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SECTION A – continued

SECTION A – Multiple-choice questions

Instructions for Section A
Answer all questions in pencil on the answer sheet provided for multiple-choice questions.
Choose the response that is correct or that best answers the question.
A correct answer scores 1; an incorrect answer scores 0. 
Marks will not be deducted for incorrect answers. 
No marks will be given if more than one answer is completed for any question.

Question 1
The type of unemployment caused by technological change is known as
A.	 cyclical unemployment.
B.	 frictional unemployment.
C.	 structural unemployment.
D.	 hard-core unemployment.

Question 2
Expansionary monetary policy is most likely to cause
A.	 a decrease in welfare payments.
B.	 an appreciation of the Australian dollar.
C.	 a reduction in the rate of economic growth.
D.	 an increase in the size of the budget deficit.

Question 3
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A health warning stating that wearing a hat reduces skin cancer would be likely to change the equilibrium in 
the hat market, shown in the diagram above, from point A to point
A.	 B.
B.	 C.
C.	 H.
D.	 E.



 3 2018 ECONOMICS EXAM

SECTION A – continued
TURN OVER

Question 4
Of the following policy initiatives, which one is least likely to increase aggregate supply in the economy?
A.	 increased government spending on infrastructure
B.	 increased government spending on education and training
C.	 increased government outlays allocated to payment of unemployment benefits
D.	 a reduction in company tax rates

Question 5
The payment of dividends to overseas shareholders will appear in the balance of payments as a
A.	 credit in the capital and financial account.
B.	 debit in the capital and financial account.
C.	 credit in the balance of payments on current account.
D.	 debit in the balance of payments on current account.

Question 6
An increase in productivity is likely to
A.	 worsen Australia’s international competitiveness and increase inflation.
B.	 worsen Australia’s international competitiveness and decrease inflation.
C.	 improve Australia’s international competitiveness and increase inflation.
D.	 improve Australia’s international competitiveness and decrease inflation.

Question 7
Refer to the following aggregate demand (AD) and aggregate supply (AS) diagram.

AS2
AS1

AD

price level

Real GDP

Which one of the following is likely to cause a shift in the aggregate supply curve from AS1 to AS2?
A.	 a decrease in interest rates
B.	 an increase in production costs
C.	 an increase in government spending
D.	 an increase in profitability of businesses
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SECTION A – continued

Question 8
Consider the following data for an economy over a two-year period. The prices given reflect the average for 
the relevant year. 

Year 1 Year 2

Index of export prices 100 96

Index of import prices 100 120

What conclusion can be drawn from the data above?
A.	 Between Year 1 and Year 2 the terms of trade improved.
B.	 Between Year 1 and Year 2 the terms of trade deteriorated.
C.	 Between Year 1 and Year 2 the terms of trade remained unchanged.
D.	 It cannot be determined if there has been a change between Year 1 and Year 2.

Question 9
Which one of the following would reduce the size of the Australian Government’s budget deficit?
A.	 company tax cuts
B.	 personal income tax cuts
C.	 increasing the rate of the goods and services tax (GST)
D.	 increasing the tax-free threshold for personal income tax

Question 10
The degree of price elasticity of demand is important to producers because it reveals how
A.	 responsive quantity demanded is to a change in price.
B.	 much of the product will be supplied at different prices.
C.	 responsive demand for a product is to advertising or promotional campaigns.
D.	 responsive quantity demanded is to a change in the level of consumer income.

Question 11
Which one of the following is not a feature of a perfectly competitive market?
A.	 Firms have ease of entry into and exit from the market.
B.	 Products sold in the market are homogenous.
C.	 Consumer sovereignty exists.
D.	 Resources are not mobile.
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END OF SECTION A
TURN OVER

Question 12
When the economy is experiencing low rates of inflation and low rates of economic and employment growth, 
the Reserve Bank of Australia will be likely to
A.	 sell government securities in order to increase the cash rate.
B.	 sell government securities in order to decrease the cash rate.
C.	 purchase government securities in order to increase the cash rate.
D.	 purchase government securities in order to decrease the cash rate. 

Question 13
Imagine the Australian Government’s budget is in surplus. 
If the rate of economic growth were to slow, this may ultimately result in a
A.	 smaller surplus budget, as receipts rise and outlays fall.
B.	 budget deficit, as receipts rise and outlays fall.
C.	 larger surplus budget, as receipts rise and outlays fall.
D.	 smaller surplus budget, as receipts fall and outlays rise.

Question 14
Which of the following would be the most likely impact of an increase in inflation in the United States (US)?
A.	 an increase in US interest rates and a depreciation of the Australian dollar 
B.	 an increase in US interest rates and an appreciation of the Australian dollar 
C.	 a decrease in US interest rates and a depreciation of the Australian dollar 
D.	 a decrease in US interest rates and an appreciation of the Australian dollar 

Question 15
The following table indicates the quarterly Consumer Price Index (CPI) outcomes for a hypothetical 
economy.

CPI

June 2017 110

Sept. 2017 115

Dec. 2017 118

Mar. 2018 120

June 2018 121

With reference to the data in the table, the annual rate of inflation for the year ended June 2018 is
A.		  5%
B.		  8%
C.	 10%
D.	 11%
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SECTION B – Question 1 – continued

Question 1 (17 marks)
a.	 Distinguish between allocative efficiency and dynamic efficiency. 3 marks

SECTION B – Written responses

Instructions for Section B
Answer all questions in the spaces provided.
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SECTION B – Question 1 – continued
TURN OVER

b.	 Explain how a decrease in the price of a complement can affect the demand for a good. 
Construct fully labelled demand and supply curves to illustrate your explanation. 4 marks
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SECTION B – Question 1 – continued

c.	 Describe the difference between a movement along the supply curve and a shift of the supply 
curve. Construct fully labelled demand and supply curves to illustrate your description. 4 marks
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SECTION B – continued
TURN OVER

d.	 Explain how either externalities or asymmetric information would result in market failure. 3 marks

e.	 Explain one government action that might be taken to address the market failure explained in 
part d. 3 marks
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SECTION B – Question 2 – continued

Question 2 (14 marks)
a.	 During 2017 and 2018 Australia’s annual wages growth remained weak. 

	 �Describe how wages growth remaining at low levels might have influenced the stance and 
focus of monetary policy during 2017 and 2018. 3 marks

b.	 Monetary policy influences aggregate demand and the wider economy via transmission 
mechanisms. 

	� Imagine the Reserve Bank of Australia raised the cash rate from 1.50% to 2.00%. Explain 
how two monetary policy transmission mechanisms might have operated to affect the level of 
aggregate demand and the rate of economic growth under those conditions. 8 marks
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SECTION B – Question 2 – continued
TURN OVER
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SECTION B – continued

c.	 Outline one weakness associated with using monetary policy to increase aggregate demand 
and the rate of economic growth. 3 marks
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SECTION B – Question 3 – continued
TURN OVER

Question 3 (14 marks)
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Source: adapted from ABS; RBA Chart Pack, ‘The Australian Economy and Financial Markets’, August 2018, p. 17

a.	 Referring to the graph above, outline one factor that might explain the trend in Australia’s 
current account balance during 2017 and 2018. 3 marks



2018 ECONOMICS EXAM 14

SECTION B – Question 3 – continued

b.	 Discuss one likely effect of trade liberalisation on Australia’s international competitiveness 
and living standards. 4 marks

c.	 Explain one likely effect of decreasing the annual immigration intake from 200 000 to 100 000 
on the labour market and aggregate supply. 4 marks
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SECTION B – continued
TURN OVER

d.	 Outline one strength of using immigration policy to achieve the goal of strong and sustainable 
economic growth. 3 marks 
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SECTION B – Question 4 – continued

Question 4 (20 marks)
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SECTION B – Question 4 – continued
TURN OVER

a.	 With reference to the two graphs for Australia’s labour market and GDP growth, assess the 
extent to which the Australian Government has achieved its domestic economic goals of full 
employment and strong and sustainable economic growth during both 2017 and 2018. 6 marks
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SECTION B – Question 4 – continued

b.	 The Australian Government has run a number of budget deficits in recent years. 

	 Outline two options available to the government when deciding how to finance a budget 
deficit. 4 marks

Option 1

Option 2
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SECTION B – Question 4 – continued
TURN OVER

c.	 ‘The Government is delivering on its fiscal strategy and budget repair, with the 2017−18 
Mid‑Year Economic and Fiscal Outlook (MYEFO) confirming the budget remains on track to 
achieve a surplus in 2020−21.’

Source: The Commonwealth of Australia

	 Explain one reason for the Australian Government’s rationale related to its fiscal strategy and 
budget repair, and its wish to achieve a surplus by 2020−2021. 3 marks



2018 ECONOMICS EXAM 20

SECTION B – Question 4 – continued

d.	 Examine the likely effect of one budgetary policy tax initiative announced in the 2018−2019 
Budget on aggregate demand and on the achievement of one of the government’s domestic 
economic goals. 4 marks
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TURN OVER

e.	 Select one of the following aspects of budgetary policy:
•	 research and development grants
•	 subsidies
•	 welfare reform policy

	 Explain how the selected aspect is designed to influence aggregate supply and the 
achievement of one of the government’s domestic economic goals. This goal must be different 
from the goal examined in part d. 3 marks

END OF QUESTION AND ANSWER BOOK
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Extra space for responses

Clearly number all responses in this space.
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TURN OVER
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An answer book is available from the supervisor if you need extra paper to complete an answer. Please 
ensure you write your student number in the space provided on the front cover of the answer book. 
At the end of the examination, place the answer book inside the front cover of this question and 
answer book.
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